Chapter 1 Costing

Answer – Exercise 1

	
	$
	$

	Actual overhead
	
	176,533

	Overhead absorbed
	
	

	Machine shop A (7,300 hrs x $7.94)
	57,962
	

	Machine shop B (18,700 hrs x $3.50)
	65,450
	

	Assembly (21,900 hrs x $2.24)
	49,056
	172,468

	Under-absorbed overhead
	
	4,065


Answer – Exercise 2
(a) Absorption costing
	
	$
	$

	Sales (8,000 x $10)
	
	80,000

	Cost of production (15,000 x $9)
	135,000
	

	Less: over-absorbed overhead (5,000 x $5)
	(25,000)
	(110,000)

	
	
	(30,000)

	Closing inventory (7,000 x $9)
	
	63,000

	Profit
	
	33,000


(b) Marginal costing
	
	$
	$

	Sales (8,000 x $10)
	
	80,000

	Cost of production (15,000 x $4)
	60,000
	

	Less: Closing inventory (7,000 x $4)
	(28,000)
	32,000

	Contribution
	
	48,000

	Less: Fixed costs
	
	50,000

	Loss
	
	(2,000)


The difference in profits of $35,000 is explained by the difference in the increase in inventory values (7,000 units x $5 of fixed overhead per unit). With absorption costing, the expected profit will be higher than the original budget of $10,000 (10,000 units x $(10 – 9)) simply because $35,000 of fixed overheads will be carried forward in closing inventory values. By producing to absorb overhead rather than to satisfy customers, inventory level will, of course, increase. Unless this inventory is sold, however, there may come a point when production has to stop and the inventory has to be sold off at lower prices. Marginal costing would report a contribution of $6 per unit, or $48,000 in total for 8,000 units, which fails to cover the fixed costs of $50,000 by $2,000.

A1-1

